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= 1,500
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01 AF222|8| 16,000 83,000 A67,000
OASF 2191 SHATICH OFMUNET ALIZIRI Al
fzteld| 25,0002 «2Y *3203] 16,000
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= 148,500
& 29,700
= 69,300
OLPGEIE R AlXITR KIZIAMY
1,000,000 *20CH 20,000
= 10,000
& 3,000
= 7,000
O2&7(2F ZUEX dsFA2e
150, 0002 *3CH 450
= 225
& 68
= 157

—-506-




A
I‘I iH :
C,l»ol :

oo

o i

0 0¥

=
-

A Fa

&Mooy
Mo 1
>

4 (&-:=2/THI1)

(Er9:&8)

SN - FE - BI(E) - HISA -

0x
I

]

il ko

rS[El=
PET

—

HwS2!

Of

g0l

Sl LPGRY

X2 A

A H W

7,000
3,500
1,080
2,450

7,000

402 RIZbA=01 A

HoH W

7,000
3,500
1,050
2,450

7,000

02 QI EAIL 2R (01X THA)
O0eloIS=xtE LPGH & XI&

7,000,0002 «1CH

HH W

7,000

7,000
3,500
1,050
2,450

7,000

oW

324,000
180,000

43,200
100,800

324,000

402 QI+ X201H

EUR I

324,000
180,000

43,200
100,800

324,000

OARE AHEHE

SE(OIMTHE)
g

SRAE XS ALS
324,000,000+ 14

H HH

324,000

324,000
180,000

43,200
100,800

324,000

al

NEX SYHi= ollg

=Y

M H

74,000
37,000
11,100
25,900

79,560

5,560

H A

74,000
37,000
11,100
25,900

79,560

A5,560

M4 IIZtNZ2Z2 XS E

ODINMZHA S &K

T
2
0z
0y
=

o121H

hul iyl

37,000,000& »2&

HoH

74,000

74,000
37,000
11,100
25,900

79,560

25,560

H

2,000
1,200

2,000

507~




A4 22
B QDI (/001
SR BIEEPTIY (eh9): 22)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
& 240
= 560
402 QI2HXH=0I 2,000 2,000 0
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= 2,400
301 LetE A 2,400 1,200 1,200
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02 Zeldl 445,000 100,000 345,000
O=0E HIISM2IAE SEAIE
445,000,000 14 445,000
= 12,000
= 65,000
= 368,000
03 Al 20| 12,000 7,000 5,000
O=HE HIIZMEAIE SEAMY
12,000,000& *14] 12,000
= 1,000
== 2,000
= 9,000
AL 29 5,650,363 4.664,1% 986, 167
101 2121H]| 114,067 109,922 4,145
M IIIHZ22XNSES 114,067 109,922 4,145
OB ANAME FOIZAIR C1AHH| 114,067
oJles 98,370 *301%263! 77,614
=t=qsl 8,000& x301%263 6,312
OFs4 98,370 %321 x51= 15,051
(@)PNE=a=E-=y 98,370 %321%123] 3,542
O=0A28L2 102,519,000& *4. 5% 4,614
(@NE=18=- 1t 102,519,000 *1.75% 1,79
OAHLEEREZS 102,519, 000& *3.545% 3,635
OMNEEs = 102,519,000 * 1% 1,026
OIIRAEESE= 3,635,000& *13. 14% 478
201 LEr2AH| 107,432 100,823 6,609
01 AF222|HI 28,432 25,223 3,209
oYyt U oHE 22| CHEY|
14,500,000 & 14 14,500
ORXGI=ZAIYE 2B AF =5
850,000& 43| 3,400
OHIISXMIAIEZ(0HE) HEIIZHAL =32
10,532,000& 13| 10,532
02 =3249I 79,000 75,600 3,400
03322 £ HAl 2,000,000 %122 24,000
OAEEBIS XY 24.,000,000& 14! 24,000
OXtzf sXieldl(60H)
26,000,000 *14] 26,000
O2EHY B8z 5,000,000 * 14 5,000
202 o4H] 700 700
01 2LH0Y| 700 700
OHJIZXel FR=&
50,0002 %121%143] 700
206 AMEHd| 53,700 53,700 0
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2A:

I‘I ZH

C,l»ol

cl(8d/HDI8)

: SEMHO Ig MelAlE =4

(etel: &)

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
01 =4l 53,700 53,700 0
OMEEE OlH(EW) 2
7,000 %1,2000H 8,400
oyxAT PY 2,000249007H 1,800
OaEX 7 30, 000246007} 18,000
oM P 50, 0002430004 15,000
OFvillg Yootz 1Y
35,000 =300 10,500
207 1IN HI 19,000 85,000 168,000
NEEEET] 19,000 85,000 66,000
OAZAIL Q12| FIFAR
19,000,000 * 14 19,000
307 212+0| A 4,307,014 3,697,051 609,963
05 QIZIRE = 4,307,014 3,597,501 709,513
OMEEE 22IdEAIY
958,748,000 & * 14 958,748
OBATAME T2
3,348,266,000 & x 14! 3,348,266
308 MRS SOIA 182,000 182,000
12 JIEFRE 2 182,000 182,000
OHYISHEREYE2 182,000,000 =14 182,000
401 AlIEHIZL20IH] 866,450 435,000 431,450
01 Al&HI 866,450 435,000 431,450
ONYHEEE YL (HSR)
770,000 % 15CH 11,550
OHAEEE HH|IUIH(EIZ)
660,000 * 15CH 9,900
OA2EE =1 HHAHDIES XA
200,000& *3,000& 600,000
QHSMKR(HII?Z) HIIZ MH2lAY
100,000 x700& 70,000
OHIISXMIAIE (A2, ) EBA
130,000,000/ * 14! 130,000
Ot & as4 HEX BE2At
15,000,000 14! 15,000
OSANAHE FoI=2AA (ML 634 dH
2=AlA AH| 30,000,000 * 14! 30,000
MYIDl A2AIE EX 3,667,000 3,483,000 184,000
= 1,100,000
= 770,000
= 1,797,000
401 AIEHIZL 20| 3,667,000 3,483,000 184,000
= 1,100,000
T 770,000
= 1,797,000
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fA:

X ZH -
S/

el SEHIIE MelAld x4 EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
01 Al 3,337,000 3,163,000 174,000
OHDISHelAIE(A2) XA
3,337,000,000& * 14 3,337,000
= 1,000,000
= 670,000
= 1,667,000
02 2eldl 300,000 300,000 0
OHIIZHEIAE(A2) LI
300,000,000 14 300,000
= 4,000
& 96,000
= 110,000
03 Al S CHYI 30,000 20,000 10,000
OHIISMIAIE(AZ) EXIAY
30,000,000 14 30,000
= 6,000
& 4,000
o 20,000
SHEFHIIZS S3HelAIE XA 800,000 0 800,000
= 240,000
T 168,000
o 392,000
401 A& HIL 2] 800,000 0 800,000
= 240,000
= 168,000
= 392,000
01 AlEH| 747,000 0 747,000
OBAESRHIIZ S3H2IALE XA =
AtBI 747,000,000 3 14 747,000
= 224,000
& 157,000
o 366,000
02 2eldl 50,000 0 50,000
OSAl=FHIIE SSXIAE EXAY 2
2lbl 50,000,000 =14 50,000
= 15,000
T 10,000
i 25,000
03 Al 2CHYI 3,000 0 3,000
OSAZSRIEIIZS SSHelAlE XA Al
=i L]l 3,000,000 =14 3,000
= 1,000
= 1,000
= 1,000
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SN 82D
A HDIE2 22(SH/HDIZ)

SR SH MEHR 22 (che: &)
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
SH WEgHd 22 43,500 51,520 A8,020
SH MYDIHEHE sX2t2] 43,500 51,520 A8,020
101 2121H| 19,500 25,920 6,420
U IIZHH2EXNSES 19,500 25,920 6,420

OSHMX HEHY o2y
150,000 *130Y 19,500
201 Lt AH| 24,000 25,600 A 1,600
01 AF222|BI 22,000 23,600 A 1,600
OSHUE X &ES Hel
800,000 x182] 14,400
OSTMHYN bl AXE
2,000,000& * 14 2,000
Os3cd Ed 2XNAE Sz
4,000,000 *1JH A~ 4,000
Ox e HHE 2XAE Xz
1,600,000 =100 A 1,600
02 s=3294| 2,000 2,000 0
OSHME X AlIESXIHI
2,000,000 *1JH A 2,000
M SAZH| (=2 ) (DIEHDIEH 382,216 374,534 7,682
& 34,900
= 347,316
ol | (&2 ) 328,018 321,782 6,236
& 34,900
= 293,118
oleA9y| (&2 ) 121,138 119,997 1,141
101 2121H] 121,138 119,997 1,141
01 B4 84,112 83,259 853
OxU=2RY
10,9522 %1621 x40A| 2+* 12& 84,112
03 2RA(PINHL)2ERE 37,026 36,738 283
O&0IsHY X2 REE
20,570 %1 5x401x25 A| 2tx 12 37,026
ZRASIZAL 2E IR 206,880 201,785 5,095
& 34,900
= 171,980
101 21244 184,694 180,544 4,150
= 34,900
= 149,7%
03 2RI (RIHH)2ZNE S 184,694 180,544 4,150
OLJSHZAIL 2% 184,694
oJl=2= 2,360,800 *4H « 122 113,323
& 34,900
= 78,423
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A4 22
HH: s 2oAY|(#23) (IEHIIE)
Che: o2y (&HE 1)
SA BB OL(EH) - HSAY - BAS e +
O&z2==g 1,505,000 *1H 23| 3,010
Od22EH(XIA) 1,072,3332x3E*23| 6,434
OAR=ZH(XHA) 140,000 x4 B =122 6,720
O&ASZ(XHA) 110,000 x4« 128 5,280
ORI XHA) 60,0003 *4Z =128 2,880
OAIZtel==EH(XHA)
14,350 *20 Al 2++4 3 % 150%= 122 20,664

O™ HZAHI(XHAI)
140,000 4B+ 12& 6,720

CEEESIEPV)
1,416,540 +4H+23| 11,333
OIIE =2 (XHA) 1,440
-2 At 40,0003« 18128 480
=2 20,0002 x3Y* 123 720
| 20,0003 x1Gx 122 240

O} 41H] (XH)
114,8202x4F 15 6,890
201 LBrEIY| 1,200
01 AtR2teldl 1,200
OUI=HI(XHAl) 300,000 x4H 1,200
M AzRHE3S 20,986
M SRE(PIAL) 22X BESRE2 S 20,986
O=0UAHLBEHZ (AHAI) 20,986

O&INQLYUEE (XHAI)

6,548,000 *13. 14% 861
OALEE (XA 184,694,000 *3.545% 6,548
O=0IAZ(XHA) 184,6%4,000& *4. 5% 8,312
OLNEEES (XA 184,694,000 *1.75% 3,233
O/THE S (XHAI) 184,694,000 1. 1% 2,032
Jl2&ul(&& ) 54,198
Jl=2du(&& ) 54,198
201 L2 AL| 28,598
01 Ar22teldl 28,598
oget=ZH| 16,790,000 & 14 16,790
O=&Ht| 6,528,000 14 6,528
QuYxtz 5,280,000 * 14 5,280
202 Ot 20,800
01 =LH0BI 20,800
OYRF& J|I20b| 20,800,000& * 14! 20,800
203 R F&| 4,800
M PA2LHRFEYI 4,800
ORA2IARFAIH| 400,000 *12& 4,800
MHRES (20 (8E /40 - = 33,000
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M 23
I YRES(SHW)(BY/MET - )
S IV E ST ES (eh9): 22)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
LHEHHXIZ 33,000 35,000 22,000
LI HH K= 33,000 35,000 A2,000
702 J|12HE2 33,000 35,000 A2,000
01 JI12NE=2 33,000 35,000 A2,000
OHIIEZX2IANEAEX|F=HAXSFDXRAD| S
HE2 33,000,000& 14! 33,000
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